ER2AF1ASDBRHRICERT SRMBFBEMEFOS Mo E

QEEHRBOEESE (M, BB S & T)
X A R} R BT
it PERBIT A 1K HOE KDL 1 kWh £ T 0.71
= BRESEAT B
@ INBRAEHEIT B A ZAD1kWhitHoE 0.06
LA bR 1 kWhizox 0.06
1O0WETOLITIZDE 0.25
10WEZZ20WETOD1LATIZHOX 0.50
& [20WEZz40WETO 1Mo 1.00
K l40WaZ26 OWETO 1 ATIcH% 1.50
EREAT 60WEZZ100WETOLATICOX 2.51
INRAETEAT A - N
100WEZ 2D 1ITIZDE50WETI LI 1.25
Jv [BOVAETOIFEERICOS 0.75
B 150VA%Z2Z100VAETO1ERICOX 1.50
f 100VAZZ x5 1HE&FICHOE 075
50VAFETI LI )
e WMRENS OVAETDY 0.02
%A WEBNSOVAZZ leOVAiT@ﬁA 0.014
ﬁ (gﬁygg) ?%%@ii%v?% ZZ500VAFETOHREL 0. 04
i BERN500VAZZX 1 kVAZTOHRA 0.40
ARSIk VAZIZ3kVAETORE 0 .40
1 kVAFTILIC
I— ?ﬁ*ﬁn&av1auo% i 0.42
BHIESO0. 5 kWOBE 1 HIZHX 0.21
RIKET A 1 #Kiz-o& 6.46
RHESO0. 5 kW 0.11
RFIEI 1 kW 0.21
MEIENES lsmomnz kw 0.42
LHIES 3 kW 0.64
BESIS kWEZ 21 kWEET T &I 0.21
<FEHRPEIE (FR23ESA~EM23FI0ADEZHEICELTL) > (M, %n)yhy)
SRk ST
BRI EE D < FEHRmATAS (A) 54, 4521 /%nl)y by E:> 95 700
B O FHC F S < A R AAS (B) 11, 108/, v ’
o e I I o O [ [ 0 0 00 (0 0 0 0 00 00 0 0 o o o o e -

SEEBREHMIRS = (A) X 0. 2433+ (B) X 1. 1248
25,7421 /%1 U v hL

l (100H HAiLE L.
= 25,700 ,/F%2 VU v hL

1 0 ML TlUEETLAN)

DU 7 IR A



